Last Practice Quiz – Answers

1.  13.3cm = distance of the 7th fret from the bridge
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2.  Car speed = 48.8m/s
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Index of Refraction Table

Vacuum Air Water Glass Diamond
1.000000 1000293 133 152 242
1. The speed of light will be the smallest in
A. a vacuum B. water (9 diamond D. air E. glass

2. When the incident angle 0, = Ocsca, which of the following is ot frue?
® sin B. 0,2 90° C. sing, =1 D.non,

3. Where would the actual fish be in the diagram on the right?

4. Tn which situation can total internal reflection not aceur?
A. water into air (B into glass
€. glass info water D. glass into air

5. If the speed of light in a transparent material is 150 x 10°
m/s, what is the index of refraction of this material?

A 033 & 050

D. 3.00 E. 400
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10. What path does the light come out? Assume all incident angles are less than the critical
angle. e

Optics Problems: Gamind | gose [ or

1. Find the speed of light in diamond. 1, 2§ xe7® S5

-]
2. What s the incident angle for a light beam passing from glass info water if the refracted angle is 35.0°% Z0+/

-4
3. Find the critical angle for a ray of light leaving diamond and entering water. > 363

4. Find the index of the unknown material on the right. J, §2. &2

8. What material is this?

Class

250"

air

6. Find the angle of refraction.

19.2°

glass




